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1. depth

2. Needs Analysis

3. formality

4. affricate

5. First, the utterance Oh wait on her jacket I found this. There is a letter P on it has
Cataphoric words. In this utterance, the word this refers to other words, a letter P on it
Second, the utterance 7t is sort of neat has hedges, sort of which is employed not to
express the truth of a statement categorically.

6. The sentence (i) has the embedded reading. The NPI any must be c-commanded by
not which is in the embedded clause. The sentence (ii) has both readings. /n any room
can modify either a matrix element or an embedded element, and in both cases not
c-commands any.

7. The sound rule in (i) is palatalization. The alveolar obstruent /d/ followed by palatal
glide /j/ becomes the palatalized affricate [d3]. The phenomenon in (ii) is spelling
pronunciation. The word fleas is pronounced [flis] rather than [fliz] due to the spelling
influence.
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10. outlining technique/ Modern tourist's demands negatively affect tourism
entrepreneurs and the local populations.

11 Y%/8st
12. dF/=st
<H3E B>
1. specifier

2. authenticity

3. (1) is assimilation whereas (2) is dissimilation. The adjectival suffix —a/ is attached to
the base ending with [-lateral] consonant and the adjectival suffix -ar to the base
ending with [+lateral] consonant.

4. A response is shown in the utterance /t’s similar to ‘tired' The speaker attempts to
resolve the communication breakdown by providing an easy word, tired (lexical
modification). A reaction to response is shown in the utterance Oh I see. Yeah I am
very tired. The communication difficulty is resolved in that the student clearly shows his
understanding of the meaning of the word, drained.

6. Step 4 and 5 have problems. As for the Step 4, in order to increase internal
consistency, the teacher should not remove the items with a high value of item
discrimination but a negative value. In Step 5, since the concurrent validity refers to the
correlation between two tests, to review the test items based on the specifications is
not appropriate for investigating the concurrent validity.
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7. 42

8. married in (i) is a verb whereas married in (ii) is an adjective.
They remained married until last Christmas.
*They were very married until last Christmas.

10. The two categories are Language and Delivery.

Yuna may have low score in Appropriateness because she uses inappropriate expressions
for the presentation task such as you know, you guys. Also, she referred to her cue
cards too frequently without looking at the audience, which showed low confidence in
her presentation task.
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